LU3sururnrE-3nrv
wuwydwbhwghp Yuptine npndwb dwuhb

Clhpwgwlupgh dwdljughpp UUTUL-Q<UMNQR-23/1

Uhuhwbh hwduwybiph unnple Gipuyughnid E hp uphpbtiph hwdwp Ghpuljumn pyub
hhdtwnyitiph W ny winbwmpuyhlt jugqdwytipynigmibbtiph juphpbtiph hundwp
Ltinpniwgywd Jupgny gptiujubl whnnyplitiph nie gpuutitywuyhtt npetiph
atinpptipdwl hyyuwnwiny juqiwltipyyuwd UUUL-G<UMQL-23/1 dwdjugpny qldwb
plpugwlupgh

wnynibpnid wuydwbwghp Yaptne npnpdwl dwuht mtintljunmynipnibp’

QGhwhwwnn hwmbtdhwdnnnyh 2022 pyuuih phutidptinh 6-h phy 3 npnpdudp hwumwnyty
st

phpugwlupgh  pnnp dwubwhhghtiph  Ynnihg  Ghpuyugquo  hwywtiph™  hputiph
wwhwbeltipnht

hutwyuwumwupiubtinepyul giwhwndwb wpynibpbtinp: <udwdawb npp’

Quthwpwdhii 1:
G.odwh wpwplu £ hwbinhuwbinid” Gphs /Juynyyw/

Uwubwlhgtiph Uwuliwlgh
qpunbtgnpud Uwubwlgh wijuwbnwdp Lumpyuwd dwubwlhg wnwewpljuwd ghti/hwq.
wmbinkipp npwd/
1 ULDHU Uy X 51,750
) Ul <uui{15up2inuijtuh 71875

Chnpyuwd dwubwlghl npnptint hwdwp jhpungwd sahwitih)” iuqugny b ghte:

Quuhwpwdht 2:
Q.0dwh wnwplu £ hwbinhuwbnid® Qphs /ull/
Uwubtiwljhgutipp Uwutiulgh
qpunlignwd Uwubwlgh wijwinedp Lunpjwd dwubwlhg wnwowplwd ght/hwq.
wbintipp npuwd/
1 ULDU U4 X 2,250
Wiabw <wdpwpancdjub
2 o 3,125

Chmpyuwd dwubwlghtt npnptine hwdwp Jhpuwnygwd swithwbthy® bfuqugnyt ghb:

Quuithwpwdhl 3:
Qinfwl wpwplyuw £ hwbinhuwbinud® Gphy Jupdhp/




Uwubiwlhgtph Uwutiygh
qpuntigpud Uwuliwlygh winwbinwip Lumpjwd dwubwlyhg wnwowplwd ght/hwq.
wmbnkpp npud/
1 ULDHU WYy X 2,115
Watw <wdpwpanidjul
2 uQ 2,9

Lhnpud dwubwyghlt npnotint hwdwp jhpungwo swithwibhy® twqugnyy ght

Quithwpwidhl 4:

Qdwh wnwplu £ hwbinhuwinid® Qphs /Juynyw/ glijuyhb

Uwulwlhgibtph Uwuliwlgh
qpuntignwd Uwubiwlgh wijwbnuip Lunpwd dwuliwljhg wnwowplwd ghti/hwg.
wbintipp npud/
1 ULDU Uy X 0,32
2 Utbhw <uu:§1;1pbnuijluh 0333

ChnpJud dwubiwyghll npmotiynt hundwip Jhpunywod swthwithy® tuqugnyyb ght

Quithwpwidhl 5:

Qidwh wnwplu £ hwbinhuwbtnid” Gphy /ull/ gljuyghl

Uwulimyhgttiph Uwiutimlygh
qpunbtgnpud Uwubwlgh wiguwbnidp Lunpywd dwubwlhg wnwowpluwd ghi/hwq.
wmbtinkipp npuwd/
1 ULDHU Uy X 0,4
2 Ubthw <mlifgl)up6nui]wh 0,416

Lhmpyuwd dwubtiwlght npnptne hwdwp Jhpunywod swithwbhy® tjuqugnyb ghb:

Quithwpwdhl 6:

Qhdwh wnwpluw L hwinhuwind® Gphy /Qupdhp/ giuyghb

Uwubiulhgakph Uwubiulgh
qpunbtgnpwd Uwutiulgh winjuiinudp Chmpyuwd dwubwlhg wnwewplwd ghi/hwq.
wtintipp i/
1 ULDU WY X 0,4
) Wl <1uli!p5upbmujwh 0,416

Chnpyud dwubiwlghl npnptnt hwdwp Jhpungwd swithwbh)' ifuqugnyyie ght:




Quuthwpwdht 7:
Qfwh wnwplu £ hwbnhuwdnid® Guphfu gphs

Uwuliwjhgiiph Uwiutiwlygh
qpuntgpwud Uwuiuljgh winjutndp Lumpyuwd dwubwljhg wnwewplwd gh/hwq.
wkinkpp npwd/
1 Wilw <wdpwpanidjui X 27075
uQ
2 ULDHU U 32,49

Chwnpywd dwubwlght npnptyne hwdwp Jhpunygwd suithwtthy” ijuqugnybe ght:

Quuithwpwdhl 8:
Qodwh wnwpu £ hwbnhuwbnid™ Guphhu ypahing
Uwubwlhgutiph Uwulilgh
qpuntgpud Uwutiwlgh wijubinwip Lunpuwd dwubwljhg wnwowpljwd gh/hwq.
wmbinkipp npud/
1 ULDU WY X 4,94
) [RRITITI <lul{'{1;1pbnuijw[1 5416

Clhnpyud dwubiwlyght npnptint hwdwp Jhpunguwd suwithwtthy” tjuqugnyyl g

Quuthwpwdhli 9:
Qinfwh wpwpyu £ hwtinhuwbnid® Unubdwdwmhn
Uwulimlhgltiph Uwutiwlgh
qpuntignuod Uwubiwlgh wijuwinedp Cunpywd dwubwljhg wnwwpluwd ght/hwg.
wbnkpp npui/
1 Uhhw <wdpwpanidjul X 81,875
uQ
2 ULDU WY 91,7

Chnpgud dwuliwlght npnptnt hudwp Jhpunguwd suithwbh)' ijuqugnyh ghbe

Quithwpwdhl 10:
Qhdwh wnwplu £ hwbtinhuwinid” Uné6gud wyjuundwub gjjuhyny

Uwuliwljhgutiph Uwubiwlgh
qpunbtgpwd Uwubwlgh winjwinwdp Chnpjwd dwubwlhg wnwowplwd ghi/hwg.
wmbintpp npuwy/

1 ULDUE Wy X 6,44




Walw <wdipwpanidjui

u9 6,9

Lhnpguwd dwubwlght npnotynt hwdwip jhpunywd swthwbhy' tuqugnyb ght:

Quuthwpwdhb 11:
Qhdwl wnwplu £ hwbnhuwbnid” UnGqud tipupt gfuphynyg

Uwutiwljhgutiph Uwutiuljgh
qpunbgpwd Uwubwlgh wiguwbinwdp Lumpywd dwubwlyhg wnwowplwd ghi/hwq.
wmtinkipp npu/
1 Uatw <wdpwpanidyui X 3,03333
uQ
2 ULDHU Uy 4,2

Chmpywd dwubwlghl npnptine hwdwp Yhpungwd suthwtthy” iuqugnyb ghb:

Quithwpwidht 12:
QGiwh wpwpu £ hwbinhuwtinid® Ul dwnhwn

Uwubwyhgbpp Uwubwygh
qpwnbtignud Uwubwlgh wijunwip Lhwmpdud dwubwljhg wnwwplwd ght/hwg.
mtintipp npuy/
1 ULDU WYy X 10,32
2 Ul <1u1315upbnui_|ulh 10,75

Ltmpjud dwubwlght npnptine hwdwp fhpungwd swhwbhy' iuqugnyb ght:

Quuithwpwdhli 13:
QGnfwbh wnwplu £ hwbinhuwbinid™ Qpugquljup /enpt/

Uwuliwlhgltiph Uwuliwlygh
qpuntigpud Uwubwlgh wijuinuip Lunpjud dwubwljhg wnwowplwd ghti/hwuq.
wmbtinkipp npuw/
1 Uhtw <wnipwipanidjul X 27,06667
uQ
2 ULDHU U4 30,45

Lhnpyud dwubwlght npnotint hwdwp jhpunywd swhwbhy' tuqugnyb ght:

Quthwpwdhh 14:
Ghdwh wnwpluw E hwiinhuwbinid® Gwphsh wubin /thnpp/



Uwiutiwljhgutiph Uwubiumlgh
qpunlignud Uwuliulgh wibjwbnudp Lonpjud dwubwlhg wnwowplwd ghii/hwgq.
wbintipp npud/
1 ULDU Uy X 11,16
) Wit <uugzg.)up6nuijwh 19,633

Lhnpyuwd dwubiwlght npnptynt hwdwip Yhpunywd swhwbhy' buqugnyb ght:

Quithwpwidhli 15:

Qlfwh wnwplu E hwiinhuwbnid® Guphsh wutin /Adtio/

Uwuliulhgubipp Uwutiulgh
qpunbtignwd Uwubiwlgh winfwbnuip Chmpwd dwubwlhg wnwowplwd ght/hwq.
wmbintipp npwu/
1 ULDU WY X 4,86
) Wl <lul:![!5up6nLliju1[l s54

Lompyud dwutuyghh npnptine hwdwp fhpungwd swhwbhy iuqugnib ght:

Quuthwpwdhl 16:
Qhdwh wnwplu £ hwtnhuwinid” Wpuqujup /ynhtphitbwhty

Uwulwyhgltipp Uwiutiwlgh
qpunligpwd Uwubiwlgh wijwbnwdp Lunpwd dwubwlhg wnwowplwd ghti/hwg.
mbtinkipp npud/
1 Wabw <wdpwpanidjulb X 16,85833
ue
2 ULDHU UY

Lhmpyud dwubiwlghll npnptint hwdwip fhpundwd swhwbhy' tuqugnyb ghb:

Quuthwpwdhl 17:
Qinfwl wnwplu £ hwbinhuwbnid® Uwpytp

Uwublwlhgutiph Uwubiulgh
qpunlignud Uwubtwlgh winjwiinwdp Cumpjwd dwubwlhg wnwowplwd ght/hwq.
wbintipp npuy/
1 ULDbU Uy X 24,22
2 Ul <wl{§1;)unanui_|mb 28.83

LCmpjud dwubiwlght npnptnt hundwip fhpunguo swhwhy® tuqugny b ghb:




Quuthwpwdhb 18:
Qb wnwpluw £ hwlinhuwbnod® @nigp tpnidh huniwp

Uwululjhghtiph Uwuliwygh
qpuntgnpwud Uwubwlgh winjubmiip Limpjwd dwubwlhg wnwowplwd ghi/hwgq.
wtintpp npuid/
1 Wibw <wdpwpancdjul X 0.5
ua
2 ULDHU Uy 13.68

Chnpfud Twubliwlyghl npnptint hwdwp Ghpunwd swhwdhy” uqugnyb ght:

Quithwpwidhl 19:
Qhdwh wnwpu £ hwiinhuwbnid® Onpb

Uwutwlhgltiph Uwuliwlgh
qpuntignud Uwubiwlgh winfuwimedp Lumnpyuwd dwubwlhg wnwowplwd gh/hwgq.
mbintipp npud/
1 ULDU Uy X 6,9

Wutw <wdpwpancdjub

uQ 8.05

Clhnpwd dwubimyght npnptint hwdwp Jhpuwngwd swthwbhy' Guqugnyh ght:

Quithwpwdhl 20:
Qinfwlh wnwplu £ hwinhuwbnid” <wioyhs
Uwulimhgbiiph Uwiulilgh
qpunlignwud Uwubwlgh wiguinwdp Lumpdud dwuliwlhg wnwowplud ght/hwgq.
wmbintipp npuy/
1 ULDHU Uy X 33,60

Lhwmpyud dwubliwlghll npnptint hwndwip fhpungwd swhwdhy® ifuqugny b ght:

Quithwpwdht 21:
Qidwh wpwplu £ hwbinhuwbnid” Lwbnb
Uwubwlhgutiph Uwubiulygh
qpunlignud Uwuliwlgh winwindp Lunpjuwd dwubwljhg wnwowplwd gh/hwq.
wmblinkpp npu/
1 ULDU U4 X 3,05
2 Uhhw <wdpwpéanidjub 6.1
[LEY ’

Lampud dwubwyghh npnptint hwdwp fhpunywd swihwbhy' bjuqugnyb ght:



Quithwpwidhh 22:
Gdwh wnwpu E hwbinhuwbtnid” Lwbnh /1/

Uwubwlhgutiph Uwuliuygh
qpunbgpwd Uwutimlgh winjwiinwdp Cunpud dwubwlyhg wnwowpywd ght/hwq.
wtintipp npuid/
1 Wulw <Luli{1£)upbnuijw[l X 0.58333
2 ULDU QY 1.5

Chmpjud dwuliwyghl npnptine hwdwp fhpungud swthwithy™ tuqugnyte ghbe

Quuithwpwdhh 23:
Q0w wnwpluw £ hwiinhuwbnid® Opwgniyg wjuwmh /20231p/
Uwubwmlhgutiph Uwiutiulgh
qpunltignud Uwubwlgh winubnudp Cumpyuwd dwubwlhg wnwowplwd ghi/hwgq.
wtinbpp i/
Wiabw <wdpwpanidjui
1 uQ X 1,4
2 WLDHU WYy 2.94

Canpud dwubwyghl npnptynt hwdwp jhpunywd swthwithy™ tuqugnyyt ghb

Quuithwpwdhl 24:
Qidwh wnwpuw £ hwinhuwbiind® (ninp A4
Uwubwlhgubtph Uwubiuygh
qpunlgpwd Uwiubwljgh winfubmnip Lunpuwd dwubwlhg wnwowpluwd ghti/hwgq.
wmbtntipp npuy/
1 U qenrEn uae X 717,533
1 Wibw <wdpwpanidjub 877.8333
u9Q
2 ULDHU WU 1053.40

Lanpduwd dwubwlght npnotint hwdwp hpungwd swthwbthy® tuqugney b ght:

Quuhwpwdhl 25:
Q.oiwh wnwplu £ hwinhuwinod® Gahph pubwp

Uwutiwhgutiph Uwutiulygh
qpunbgpwd Uwubwlgh wijuinwdp Cunpdwd dwubwlhg wnwowplwd gh/hwq.
wmbtinlipp npwd/




UWilhw <wdpwpancdjui
ue

3.06667

ULDUE U4

4.80

Lonpyud twubwlghl npnptyne hunfwp jhpunqwd swthwithy” iWuqugnyb ght:

Quithwipwdht 26:

Qhdwh wnwplu E hwinhuwbnid® Gihph pubtiup/fubtiuy

Uwubwlhgutipp Uwutiwlgh
qpruntignud Uwubwlgh wijuinuip Cunpjwd dwubwlhg wnwowplwd gh/hwq.
wbtintpp npui/
1 ULDU U X 1,5

Chmpywd dwubwlght npntne hunfwp Yhpungwd suthwbhy” tfuqugniyb ghbe

Quithwpwdhli 27:

Qinfwl wnwplu £ hwinhuwbnid” (@npuwubul, §npn juqing

Uwutwlhgutiph Uwubiuljgh
qpuntgpwd Uwuliuljgh wbjuiinudip Cunpduwd dwuliwljhg wnwewplwd ght/hwgq.
wmbntpp npuwid/
1 ULDU WY X 44,880
) Wl <m1{r;1p6nui]lub 48,95

Compywd twubwlght npnptynt hwdwp Ghpwngwd swthwthy' tuqugnyb ght:

Quuhwpwdhii 28:

Qhdwh wnwpluw E hwinhuwlnod™ duyy

Uwubwlhgutiph Uwuliulgh
qpuntigpwud Uwubtwlgh winjuwinwip Cumpjud dwubwlhg wnwowplwd ghi/hwq.
wbknbipp npw/
1 Walw <wdpwpanidjub X 8125
uQ
2 ULDU Uy 90,00

Lhmpywd Jwubwlghl npnotyne hundwp Yhpundwd swthwhy” ijuqugniy ghbe

Quuthwpwdhi 29:

Qifwh wnwpluw £ hwbinhuwbnid”™ Uphs




Uwubwlhgbtiph Uwubiulgh
qpuntignwd Uwubiwlgh winguinedip Liwnpjud dwultwlhg wnwowplwd ght/hwuq.
wmbnkpp npud/
1 ULDHU U4 X 4,32
Ualhw <wdipwpanuijub
2 uQ 48

Campywd dwubwlghl npntynt hunfwp Yhpungwd suthwhy” tjuqugniyt ghbe

Quuthwpwdhi 30:

Qinfwh wnwpluw £ hwbnhuwbnd® Gwlhy ko

Uwiuliwmljhglitiph Uwutimlgh
qpuntigpud Uwubimlygh wijubnuip Chumpuwd dwubwlhg wnwewpluwd ghi/hwq.
wmtnkipp npud/
1 ULDU Uy X 17,00
) Whtw <wl:f;1panuijluh 29.16667

CLhnpyud Ywuliwlghl npnptine hwdwp Ghpundud suthwthy” ifuqugnyb ght:

Quithwpwdhli 31:

Qifwh wnwplu £ hwinhuwbinud” Mnhtphtiuht prpugubiuy, fangluyng

Uwululjhgitiph Uwuliwlgh
qpuntgpwd Uwulwlgh winjwinwip Ciumpjud dwubwlhg wpwowpywd gh/hwq.
wbkntipp npu/
1 ULDHU UG X 4,5
) Wibw <1ulifgl)upamdjwh 6,25

Campywd dwubliwyghtt npnotyne huwndwp Yhpungwd swthwbhy” ifuqugniyb ghbe

Quuthwpwdhi 32:
QUdwb wpwpluw £ hwinhuwinid® Ulpuwm

uQ

Uwutwlhgutiph Uwulilgh
qpunbtgpud Uwuliwlgh winfuinwip Cunpud dwulwlhg wnwowplwd ghii/hwq.
wmtinkipp npud/
1 ULHU Uy X 21,25
2 Wbl <wdpwpanidjul 2479167

Chnpud Ywubwlght npnotynt hwdwp Ghpuntwd suhwihy” ijuqugniyi ght:




Quuithwpwdht 33:

Qoiwh wnwplu £ hwbnhuwbtnid® Gpuutiyuughlt ghpp

Uwuliwjhghtiph Uwuliuljgh
qpuntigpud Uwubwlgh winjwinwip Cunpjuwd dwubwljhg wnwowplwd ghti/hwq.
wbinkpp npwd/
1 ULDU WU X 51,50
) Ut <uuil§15upbnuiju1ﬁ 60,083

Lhmpyuwd Twulwlght npnptyne hwdwp Ghpunywd swihwbhy ifuqugnb ghti:

Quuithwipwdhl 34:

QOdwh wnwplu £ hwinhuwbnud Gpuubbjuluyh ghpp /AJwibtiqujudnp/

Uwubwlhgutipp Uwiutiuljgh
qpuntigpud Uwubiwlgh wigubnuip Luwmpyud dwubwljhg wnwowplwd gh/hwg.
wbinkipp npud/
1 ULDU Uy X 35,2
Wubw <wdpwpanidjub
2 ue 37,3

Cunpud dwubwlghb npnotint hwdwp Yhpwndwd suhwbihy’ ijuqugnyb ght:

Quuithwpwdhl 35:
Qoiwh wnwpluw £ hwlinhuwtnid® Ywphy thnpp
Uwubwljhghbtiph Uwulilgh
qpunlignud Uwubwlgh winjwinuip Cunpywd dwubwlhg wnwowpluwd ght/hwgq.
wmbtinkipp npuy/
1 WLDHU WY X 9,0
Wabw <wdipwpanidjub
2 uo 10,0

Campywd dwubwlghll npnptne hunwip Yhpundwd swthwthy” iuqugniy ghbe

Quithwpwdhl 36:

Qiniwh wnwpluw £ hwinhuwbinid” Guphy 06

Uwuliwlhgutiph Uwubiulygh
qpunbgpwo Uwubwlygh wijubnudp Cunpjwd dwubwljhg wnwewpljwd ghi/hwq.
mtintipp npui/
1 ULDHU WY X 15,6




2 Ut <wlil§15up6nuijlub 20,58

Chnpywd dwubliyghl npnptine hundwp Ghpundwo swthwbthy” bwqugnyb ghb:

Quuithwpwidht 37:
Qiiwh wnwplu £ hwbnhuwbnod® Guphys' ko 100 plipph hwdwp
Uwubwlhgutiph Uwubwygh
qpunbkgpwd Uwubwlgh winjunuip Cumpjwd dwubwlhg wnwowpywd ght/hwuq.
wtintipp npu/
1 ULDU U4 X 13,2

Chnpywd Ywubwlghl npnptnt hwdwp Yhpungqud swthwbhy® iuqugnib ght

Quuithwpwdhl 38:
Qiniwh wnwpluw E hwinhuwbnd® Utindwl/unipuy
Uwulimlhgutiph Uwuliwlygh
qpuntgpwd Uwubiwjgh wbduiindp Cumpjuwd dywubwlhg wnwowpuwd ght/hwq.
wmbtintipp npwd/
1 ULDHU W4 X 4,03
Whbw <wdpwpancijul
2 uo 4,05

Lhnpjud Ywubiwlyghh npnptint hwdwp Yhpungwd swuthwbhy” tuqugniyb ght:

Quuthwpwidhl 39:
QOdwh wnwplw E hwinhuwtnid” Ukindwly/udpul

Uwublwlhgltiph Uwuliwlygh
qpuntgpud Uwubwlgh wigubnuip Luwmpjud dwubwlhg wnwewplud ght/hwq.
wmtinkipp npuy/
1 ULDHU Uy X 1,61

Wubw <wdpwpanidjuh

uQ 2,33

Chnpud Ywubwlght npnptnt hwdwp Ghpuedwo swhwbhy” wuqugniyt ght:

Quuthwpwdht 40:
Qidwh wnwpluw E hwiinhuwbnod® Gnibwynp dunnhu

Uwubwlhgutiph Uwubulgh
qpunbtgpwd Uwubwlgh wijwinwip Cunpjuwd dwubwlhg wnwowplwd ghti/hwq.
wbinkipp npuy/




1 ULDHU U4 X 148,4

Wibw <wipwpancdjuib 239 66
uQ ’

Cnpyuwd twubwlght npnotijnt hwdwp Yhpunywd swthwbthy” tuqugnyb ght:

Quuthwpwidhli 41:
Qiniwh wnwpluw E hwinhuwbnid” Qnibun]np pninpe /Gphinndwbh/
Uwutiulhgutipph Uwiuliuljgh
qpuntignwo Uwubiwlgh winubinudip Cunpduwd dwubiwlhg wnwowpluwd gh/hwq.
wmbtinkpp npuwd/
Uhlhw <wdpwpanidjul
1 uQ X 87,12
2 ULDHUE U4y 66,55

Chnpud twubiwlghl npnptnt hudwp Ghpundqud swthwihy” iuqugnib ghte

Quuthwipwdhl 42:
Qintwh wnwpluw E hwiinhuwbnid® Gnibunp pninpe /Gpinndwbh/
Uwiutiwjhghiiph Uwubiulgh
qpuntignwud Uwubwlygh winjwbnuip Lunpud dwubulhg wnwowplwd ghi/hwug.
wmbtntpp npud/
1 ULDHU Uy X 7,28
Whbhw <unipwpancdjul
2 uo 8,33

Chnpywd Jwubwlghl npnptjne hwdwp Yhpundwd suthwbhy” ijuqugniy ghbe

Quuthwpwdhi 43:
Qoiwh wnwplu £ hwlnhuwbtnd® Gnibugnp poine /Gpynndwbh/
Uwulwlhgltiph Uwuliwaljgh
qpuntignud Uwubwlgh wijuinuip Lunpdud dwulwlhg wnwowplwd ghti/hwq.
wmbtinkipp npwd/
Wl <wdpwpanidjul
1 uo X 11,66
2 ULDU WY 14,00

Chnpywd Ywulwyght npnptynt hwdwp Ghpungwd suhwbhy” tjuqugnih ghte

Quuithwpwdhl 47:
Q.ifwh wnwplu £ hwbinhuwbinid” Ednyjuhw



Uwubwlhgubtiph Uwuliulgh
qpuntgpwud Uwuliwlygh winjuinwdp Conpwd dwubwlhg wnwowplwd ghi/hwuq.
wbinkpp npuy/
1 ULDU U4 X 6,3
Whbw <wdpwpanidjul
2 1o 7,0

Chmpywd dwubluyghl npnotyne hwdwp Yhpungwd swthwbhy” ijuqugnib ghbe

Quithwipwidhii 48:
Qinfwb wnwpluw £ hwbnhuwbnid” Fuuwdwmyub
Uwubwlhgutiph Uwuliulygh
qpunblgpwd Uwubwlgh wigubnwip Cumpwd dwubiwlyhg wnwowplwd ghi/hwq.
mbinkipp npu/
1 ULDHU U4 X 29,00

Champywd Jwuliwyghl npnotynt hundwip Yhpungwd swthwbihy” tfuqugniyb ghbe

Quithwpwdhl 49:
QOitwh wnwpluw E hwlnhuwbnid® Gnetiwygnp jugha
Uwubwlhgutiph Uwuliulgh
qpuntignud Uwubwlgh wijwbnudip Luwmpyuwd dwubwljhg wnwowplwd ghi/hwgq.
wmbtinkipp npu/
1 ULDHU U4 X 12,88
2 Wt <uugzgl)upbmﬁjwh 13416

Limpyud dwubwlghlt npnptyne hundwp Yhpundud swthwithy” iuqugnyy ght:

Quuthwpwidhl 50:
Q.ofwb wnwplu £ hwinhuwbnod® Ughunwl juigha
Uwubwlyhgutiph Uwuliulgh
qpunbtignwd Uwubwlgh wijuwinuip Cumpywd dwubiuljhg wnwowpluwd ght/hwq.
wmtintipp npu/
1 ULDHU QY X 1,2
2 Ut <lul:§35u|16nuijwh 1,35

Chnpjud Ywubwlght npnptynt hwdwp Ghpundud suthwbhy” wqugniyb ght:

Quuthwpwdht 51:
Qodwh wnwplu £ hwinhuwinid” Gowgpujub pnine /Juundwi/ Al



Uwulwlhgltiph Uwutiulgh
qpuntignwd Uwubiwlygh wijunip Cumpywd dwubiulhg wnwowplwd ghi/hwg.
wmtinkpp npwy/
1 Whbw <wdpwpdnidjui X 37.16667
uQ
2 ULDUE WY 55,75

Conpjuwd Swubwlght npntynt hwdwp Ghpunegwd suthwbhy” bjwuqugniyb ght:

Quuhwpwdhhb 52:
Q0w wnwplw E hwbnhuwbtnid” Gpaugnp ghpp
Uwubwlhgutiph Uwutiulygh
qpunbgpud Uwulwlgh wijwinwdp LhmpJuwd dwuliwlhg wpwowplwd gh/hwq.
wmbtntipp npu/
1 ULDU Uy X 7,00

CLhnpywd Ywubiwyght npnptynt hwdwp Ghpungwd swhwbhy' bjuqugnih ghbe

Quuithwpwdhl 53:
Qitwh wnwplu £ hwlinhuwbnid® Mn). hiphwueni dwwguiit /thnpp/
Uwubimlyhgutiph Uwiuliwlygh
qpunblignwd Uwubwlgh wijuinuip Lunpyuwd dwubwlhg wnwowpluwd ghi/hwgq.
mtntipp npu/
1 Whbw <wdpwpanidjul X 2,33333
uQ
2 ULDHU Uy 6,3

Chnpyuwd dwubwlght npnptynt hwdwp fhpungwd swthwbthy” tuqugnyyb ghb:

Quuthwpwdhl 54:
Qitwh wnwpluw £ hwlnhuwbnid® Mnj. hiphwfuent dwwguy Ao/
Uwulimljhgutiph Uwutiulgh
qpunbtignud Uwubwlgh wijuwinwdp Cumpyuwd dwubwlhg wnwowplwd ghi/hwq.
wmbinkipp npuy/
Wit <wndipwpanidjub
1 el i X 20,90
2 ULDU Uy 23,1

Chnpjud Twubwlght npnptynt hwdwp Ghpundud suthwibhy iuqugniyb ght:

Quuthwpwidhl 55:
Q0dwh wnwplu £ hwbnhuwbnid® Mnp. pipbwluenet dwwqugit /Gpynnd/



Uwubiwlyhgubph Uwubiwlgh

qpuntignud Uwubwlgh wijuwbnuip Lunpjwd dwubwlhg wnwwnplwd ghli/hwq.
wtintipp npwy/
1 WLHU WY X 7,2

Lhwnpyud dwubwljghlt npnptint hundwip Yhpwunguwd swhwthy' ijuqugny ght

Quithwpwdhl 56:
Qhdwh wnwplu E hwinhuwinod® opwgnyg, utinubih
Uwulimljhgutiph Uwubulgh
qpuntigpud Uwuliwlgh wijuwbnwdp Lunpjuwd dwubwlhg wnwowpywd ghti/hwg.
wmbintipp npw/
1 Walw <wndipwpanidjub X 5,83333
uQ
2 ULDHU U4 7,00

LChnpjwd dwubwlyghl npnptint hwdwp Ghpungwd swihwibhy' iuqugnyb ghtb:

Quithwpwidhb 57:
Qodwh wnwplu £ hwbnhuwtnid® Utnubh opwgnygh wumjubinwb
Uwutwlhgutiph Uwiutilygh
qpuntignwod Uwubiuljgh wijuinedp Lunpyuwd dwubwlhg wnwowpljuwd ght/hwq.
mbtinkpp npuy/
1 ULDUY Uy X 6,8

Lhmpguwd dwubiwlght npnptint hwdwp hpunywd swhwbihy' Guqugnyb ght:

Quuthwpwidhl 58:
QUiwh wnwplu £ hwbinhuwbnid® Ghpp pinljtnn
Uwubwlhgkph Uwulimlygh
qpunbgpwd Uwiutiwlgh wingubnwip Lunpjuwd dwubwljhg wpwowplwd ghi/hwq.
wmbintipp npuwy/
1 Utbw <wdpwpanidjub X 15,58333
uQ
2 ULDHU Uy 17,6

Llhmpud dwubwyght npnptint hwdwp fhpunygwd swihwbhy' iuqugnyb ght:

Quithwpwdhl 59:
Qidwh wpwplu E hwbinhuwbnid” Bynidh mbnp /pnlinm/
Uwubtwmlhgbtiph Uwutiulygh
qpuntigpud Uwubiulgh winjuiinedip Cumpjuwd dwubwlyhg wnwewplwd ght/hwq.
wmtintipnp npu/




Whtw <wndpwpanidjub

ue X 1,875

2 ULDU WY 3,15

LClhnpud dwubiwyght npnptnt hwdwp Jhpwngwd swthwbhy' buqugnyb ght:

Quuithwipwdh 60:
QUiwh wnwplyu E hwbinhuwbnid” Sindwuntip

Uwulimljhgutph Uwutiuljgh
qpuntigpwud Uwuliulgh winjwinwdp Lunpwd dwubwlhg wnwowpluwd ghti/hwg.
wbintipp npud/
1 ULDHU WY X 7,15
2 Whtw <m1§f;}up&md}mh 9,208

Lhnpyud dwulwlght npnptint hundwp fhpuwngwd swihwbhy' uqugnyb ghb:

Quthwpwdhl 61:
Qb wnwplu £ hwbnhuwbnid® Spewbhwnnipjub ghpp
Uwubimljhgliipnh Uwiubimlygh
qpunblgpud Uwubtiwlgh wigwinedp Lumpjwd dwubtwlhg wnwowplwd ghl/hwgq.
wmtinkipp npuy/
1 ULDHU WY X 8,4

Llwnpgud dwuliwljghtt npnptint hwdwp Ghpuwngwd swihwdhy' ijuqugnyb ght:

Quithwpwdhb 62:
Qiiwb wnwplu £ hwtnhuwbnd” <wpgundwb ghpp
Uwubwljhgutiph Uwiuliualjgh
qpuntigpud Uwuliwlgh winjwinwdp Campywd dwubwlhg wnwownplwd ghi/hwgq.
mbtinkipp npuy/
1 ULDU U4 X 34,2

Lhnpdwd dwubiulght npnptine hwdwp hpunywd swhwbihy' Guqugnygb ght:

Quuthwpwdhh 63:
Qdwh wnwplu £ hwbnhuwbtnd® By Yphs 2 QR
Uwulimlhgtiph Uwulilgh
qpunblgpwd Uwubuljgh winjuwbnedp Lumpyuwd dwubwlhg wnwowpluwd ght/hwgq.
wmbtintipp npuwd/
1 ULDHU Uy X 6,6

Chunpyuwd twubwlght npnotine hwdwp Yhpunywd swhwbthy' tuqugny b ght:



Quithwpwdhli 64:

Qhdwh wnwpluw E hwinhuwbnd® B Yphs 4 Q£

Uwubwlhgutph Uwuliulgh
qpunblgpwd Uwubiwlgh wijuinnip Cunpwd dwubwlhg wnwewplwd ghl/hwq.
wtintipp npuwy/
1 ULDU U4 X 2,8

Lanpud Ywubwlght npnptine hudwn Ghpungwd swthwbhy” twqugniyb ghbe

Quuthwpwdhl 65:

QOfwh wpwplu E hwinhuwbnid® (Gubwph pupahlbtip

Uwulimyhgutiph Uwulimlgh
qpunbtgpud Uwubiwlgh wijubinudp Chnpjuwd dwubwlhg wnwowpluwd ght/hwq.
wmtintipp npuy/
1 ULDU WY X 3,2

Chwnpywd dwubwlghl npnptynt hundwip Yhpunwd swthwbhy” iuqugnyb ghte

Quuithwpwdhi 66:

Q0dwh wnwplu E hwinhuwbnid” Muuwnhphb

uQ

Uwubwlhgbtiph Uwubwlgh
qpunbtgpwd Uwuliuljgh wijubmedp Cunpjud dwubwljhg wnwowplwd ght/hwmq.
wmbintipp npud/
1 ULDHU Uy X 156,00
) Wiabw <wdpwpancdjui 160,00

Lanpud Twubwyghl npnotynt hundwp Yhpwnywd suthwihy” hjwqugnyb ghte

Quuithwpwdhl 67:

Q0w wnwplu E hwbnhuwblnid” Quyuluphs

Uwubwlhgutiph Uwuliulgh
qpuntignud Uwultwlgh winjwbnwdp Chmpyuwd dwubwuljhg wnwowplwd ghti/hwgq.
wmbtnkipp npuwu/
Whhw <wdpwpanidjul
. ua X 3,00
2 ULDU U4 3,15

CLanpywd dwubwlghtl npnptynt hwdwp Yhpunygwd sunhwbhy” bjuqugnib ghte




“Qinuditiph dwuph” << optliph 10-py hnnpjwodh hudwawyh’ whgnpdnipyub dundljtin E
uwhdwhynid unyh hwyumwpupnipynip hpuwwputytne opdwb hwenpnnn opwithg uhbsl
10-pn opwigniguyyht opp Gtipuunywy phiud dwdwhwlwhwnywon:

Unyl hujnwpupnipyub htn juudud jpugnighs wtntnipnibbtp unwbwne hundwp
Qupnn bp nhily UUUL-QLUMQR-23/1 dwdlugnny ghnudbbtiph hunfwlwpgnn Wdugulb
Quhp-hb:
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